AXOR

ASIVAN G VAl B i€ S 02 AXOR One Select
EN / Instructions for use / Assembly instructions 03 48112XX7

INSTALLATION



H 02

AN BREHTS

AN B S S B EANDI B 240, AU BT R

A A= SRV R TR, ARG B 2 .

A BORAE ] i KK T 192 25T LT

TG

[ CEEARHALAU AL R R Bl g, SRR
M AT da i B o B T 473

/ RETERIRT T LU AR EUEAT 222, ah b Al
K,

el

EVE A CRRINRER !
(S |

B PR AL ZFAEAY £ P 8 B2 M PR T T PR 2L
THEHREN 8005 MIKLAE (R A—4E—1K) .

Fo (s O
R EE (g [

) B (50T
/S SRR LA “oq MuE ZLEn Ol
/ SRR O R I . 2% 1Kl B A B AR 00 = HE%
I S B0 I 67 = Matt Black

70 = Maft White
BARSE Q9 = Polished Gold-Optic
A Heiik: K 1 MPa "
S T SR 0.1 -0,5 MPa w0 O
MUpRWARCHS 1.6 MPa AT Y

(1 MPa = 10 bar = 147 PSI) /B AR 22 mm #13610XXX
HOKIERE: K 60°C
T B 70°C /4 4¥4h / BEMIE @ 90 mm #13611XXX
L KB @ Wik (2 nsE O)
@\ Y (HE IRl i |

DUBHE AR, 3 R BAE K L ) i) 45 e

Ja, TR AER K6,
[ i JEH B
/ o3 KN / RILRREE Y, MES / KA RIL g, PR S
/ o3k KRN AR / TERRZESE o 1) 1
/KA R / WREBIR, S5 (#94317000) / BRIRIE (#94317000)
B =TS 7 T 30 (#94317000) 7 B RG [#94317000)
/R POK AR LA GRS / TERf 22 o 1)




ANSAFETY NOTES

A\ Gloves should be worn during installation to prevent
crushing and cutting injuries.

A\ The product may only be used for bathing, hygienic
and body cleaning purposes.

/\ The hot and cold supplies must be of equal pressures.

INSTALLATION INSTRUCTIONS

/ Prior to installation, inspect the product for transport
damages. After it has been installed, no transport or
surface damage will be honoured.

/ The pipes and the fixture must be installed, flushed and
tested as per the applicable standards.

/ The plumbing codes applicable in the respective
counfries must be observed.

/ The drain valve must only be used as intended. It is not
allowed fo attach other objects to the drain valve, for
example a semi-pedestal.

Special information for UK If installing this product with a
pump, please be aware that it has to have negative head
switching. This product will not function with a positive
head pump.

TECHNICAL DATA

Operating pressure: max. 1 MPa
Recommended operating pressure: 0,1-0,5 MPa
Test pressure: 1,6 MPa

(1 MPa =10 bar = 147 PSl)
Hot water temperature: max. 60°C
Thermal disinfection: 70°C/ 4 min

The product is exclusively designed for drinking water!

03 EN
SYMBOL DESCRIPTION
Do not use silicone confaining acefic acid!

\ MAINTENANCE |[see page [

The check valves must be checked regularly
according to EN 806-5 in accordance with
national or regional regulations (at least once a
year).

DIMENSIONS (see page [
FLOW DIAGRAM |[see page Q)

SPARE PARTS [see page 1)

XX = Colors

00 = Chrome Plated
67 = Matt Black
70 = Matt White

%% Polished Gold-Optic
SPECIAL ACCESSORIES

(see page [
order as an extra

/ face plate extension 22 mm #13610XXX
/ face plate @ 90 mm #13611XXX
CLEANING (see page )

OPERATION |[see page I

&
E

Hansgrohe recommends not to use as drinking
water the first half liter of water drawn in the
morning or after a prolonged period of non-use.

FAULT CAUSE REMEDY

/ Insufficient water / Aerator calcified, dirty / Clean aerator, replace as necessary

/ Insufficient water / check valve hasn't moved back / Exchange check valves

/ Mixer stiff / Cartridge defective, calcified / Exchange cartridge (#94317000)
(#94317000)

/ Mixer dripping / Cartridge defective (#94317000) / Exchange cartridge (#94317000)

/ Instantaneous heater didn't work / check valve hasn't moved back / Exchange check valves

Sy,

ASSEMBLY (see page [4) =






05

|
3x M5x40

ca. 5 mm |<—

LIV
ALARANANY

3x M5x45




G
©,
Armo\men?er\ i
Greos® ; ‘
Pl ;
/ff g,
‘ c 5
\
\




5 |/min 7 /min
2545,/ Green {0,/ Yellow

=







09 l%

Q—QBO—Pi
> leo21
220%‘

220 g
¢ 229

20°

o
(@]
40p
280 W
700 ——— P

4¢—F 850
620 —— P

0,60 0 6,0 5 Vi
min
0,55 55
0.50 (2) 50 @ 2340,/ Green
045 +—1 | 45
0,40 { l 4,0 @
0,35 3,5
L 5
S 030 30 38
0,25 11l 2,5
0,20 /. ; 2,0 7 Vmin
0,15 i 1,5 A/ Yellow
0,10 . 1,0
' /I i ’
0,05+ A 0,5
0,00 L 0,0

Q=Il/mn0 3 6 9 12 15 18 21 24 27 30
Q=1/sec O 0,1 0,2 0,3 0,4 0,5



[ |
[ |
[ |
3x M5x45




3x M5x45

3x M5x40

SW 3 mm







13

00048686

g

e G ,

MO||OA m@mm
(uw/ )

00092686

usslo

5 ¥

() G)
0008L1£6 \ 2]
OXXELEVE ooW%mo

OXXyLEVO

OXXSLEVO

(SIS

(ww 06 @)
OXXL19¢€l
2UO YOXV
| (wuw zz]
OXXOL9EL
ouO YOXV

@g@@ 14
00085786

A,

@ 000/1E76
(2x9) ({owraserd

00085¥86

(OVXSW)

000911co

oooniers QN

OOOOWNmO\\\k\

.w_xi%

000€9YEL



@ 14

ST R 7 8 B 0 i

BARHY DSk, BB Sk, 6T, R, vk e W4

U R R BRI 52, DL 7 B A

BRI R TIRE I i 7 ok

o T RGP AR I R PR U B 4, AT

R 1 7 o R0 A 3 B

FEBRTEDURRE o, S L8 A

/LR SRS A7 0 T R B 0

/ RAA A AT, WO, S RN
R 335 R 8 220 7 A P 40

/BRI S S 4 T

/R SRARHEPRIL LA TR A

/AR LA RS TR A, R
B, WA AN 25

/TR RS ) G 04

/R YRR FELR FOPE PRI ), e SV T
50 PO ] F B

/ SEMI T LA A

/R AAPHE R EBEWE S SRR i L Bk
W2 25 HE A DU RS 72 5 6 T 15 R 1
R A B, A 53
i

/2 AT RS T Y, DI S
G B ).

/AR IR, B A B

TR

NER, BEAoK, IR, ekl Aok, BIWIK, 465
B B A 2 X 7™ Wt L 403

BEAL: )G O M S AR R A i 0

[URELE ™ by T 05 AT I OEA RG24 8, Bl InA
EIH%EH?T‘EEH@EB‘Jﬁ?ﬁt*ﬁ*ﬁﬂﬂ%ﬁ%%%?ﬁ%?ﬁ

HH.

AE L 2 07 1) 2 T AR5 5 P 97 770 S 4 2R T IS AR
3.

A

AG L RE HEAT I I T R P AR A R A TE A 2 B 7™ i
PRABNIFEZ .

EiiRPS

AXOR T i BRIk, 12 A JC s BB, ISR A st 2
FRTUAEP BB 14, AXOR Hi 0 33k (RIE 45 LEAN

Www.Nansgrone-ini.com/ guarantee. ’{‘E% H:H;‘H%

T AR 8 A A e,
A0 ER.

—/— N
BRI 5 R AR AR 4 [R] T ASBRIUE A9 BAr e X

TEHE I A
QUICKCLEAN

AT QuickClean, F T HiflE, 2535m% RKIKIE,
N oy S R R T

CLEAN

QUICK e’



http://www.hansgrohe-int.com/guarantee

CLEANING RECOMMENDATION FOR
AXOR PRODUCTS

Today, modern sanitary and kitchen tapware, showers,
accessories, washstands, tubs and radiators consist of very
different materials to comply with the needs of the market
with regard to design and functionality.

To avoid damage and reclamations, it is necessary fo
consider cerfain criteria when cleaning.

WITH REGARD TO CARING FOR THE
AXOR PRODUCTS, THE FOLLOWING
MUST IN PRINCIPLE BE HEEDED:

/ Only use cleaning material which is explicitly provided
for this type of application.

/" Never use cleaning materials, which contain hydrochlo-
ric acid, formic acid, chlorine pale lye or acetic acid, as
they cause considerable damage.

/" Phosphorus acidic cleaners are only conditionally

applicable.
Mixing cleaning agents is not permitted, generally.

Never use cleaning materials or appliances with an
abrasive effect, such as unsuitable cleaning powders,
sponge pads or micro fibre cloths.

/ The instructions of the cleaning agent manufacturers
have fo be followed absolutely.

/ Cleaning has to be carried out with a specified cleaner
dosage, contact time, object-related and adapted to the
needs.

/" The building up of calcifications has to be removed by
cleaning regulary.

/ When using spray cleaners, spray the cleaning solution
onfo a soft cloth or sponge, never directly onto the Axor

products, as the atomised spray could enter openings
and gaps in the Axor products and cause damage.

/ After cleaning rinse thoroughly with clean water to

remove any cleaner residue.

15 @

/ The use of steam cleaners is not permitted. The high
temperatures can damage the products.

IMPORTANT

Residues of toiletries such as liquid soaps, shampoos and
shower gels, hair dyes, perfumes, aftershave and nail
varnish can also cause damage.

Here too: Carefully rinse with water after use to remove
residues.

Likewise, do not store any cleaning agents or chemicals
under the products, for example in a vanity unit, as the
vapours may damage the products.

The damage of already damaged surfaces will deteriorate
under the effect of the cleansers.

COMPONENTS WITH

DAMAGED SURFACES MUST BE
EXCHANGED, OTHERWISE THERE
COULD BE AN INJURY DANGER.

Damage caused by improper treatment will not be covered
by our guarantee.

WARRANTY

AXOR guarantees to the consumer that this product is free
of production faults. If evertheless any defect is detected
within 5 years from date of purchase, AXOR will remedy
this defect free of charge. You will find the conditions and
details of this guarantee at

L Donsggne ot com/auggniod Please contact your

contracting party to claim your rights under this guarantee.
This guarantee does not affect the customer’s rights under
the respective national legislation.

QUICKCLEAN

The QuickClean cleaning function only needs a small
manual rub over to remove the lime scale from the spray
channels.

CLEAN

QUICK e’



http://www.hansgrohe-int.com/guarantee

AXXOR

AXOR / Hansgrohe SE
AuestraPe 5-9

77761 Schiltach
Deutschland

info@axor-design.com

axor-design.com

06/2023

9.08103.51



	中文
	English

